ENDINGS OF GREEK VERBS

We distinguish finite and infinite forms. Finite forms are those with personal endings (I,
you, etc.). Personal endings, all of which have recessive accentuation, come in the
following categories:
e active and middle;
e primary, secondary, and imperative.

o primary: for present, future, and perfect indicatives; and all subjunctives.

o secondary: for all augmented forms: imperfect, aorist, pluperfect; and all

optatives.
o Only secondary indicatives have augments.

Overview of finite forms:

active middle
persons primary secondary | imperative | primary | secondary | imperative

Isg -0, -Ul -v X -gat -unv X

2sg -1, -S -S () -oal -00 -00
3sg -1, -0l ) -TW -Tal -To -06w

1 pl -UEV -UEV X -ueba -ueba X

2 pl -Te -Te -TE -oBe -o0¢ -o0¢
3pl - ~Ol, -aocl -V -VTWV -VTal -VTO -0Bcov

X =form does not exist. @ = no ending follows the stem (+themevowel, if applicable).

General notes:

e Bad things happen to the primary active indicative endings in the sg, so that you
often don't see them exactly like this. Bad things also happen to endings starting
in -s plus vowel, such as the 2sg middle endings. Some of these then got 'restored'.
Good news: look at the 1st and 2nd plural forms.

More regularity: 2sg tends to have -s, 3pl tends to have -n. For 3rd sg/pl middle,
watch -Tal vs. -vTtal ; -To vs. -vTo.

e 1sgtends to have -m, but this goes to -n at the end of a word after a vowel. This,

plus the loss of an original -t from -nt in the 3rd plural (Joanna's rap rule), makes some 1sg and 3pl endings
coincide. Following a consonant, -m will 'vocalize' as -a! : e-lus-m --> éAuoca

¢ Note that some paradigms come with themevowels (AU, fjyayov), some not.
e Subjunctive forms you recognize by their lengthened themevowels (co,n) (U 31)
e Optatives you recognize by the iotas (1, 1n, 1€) and the secondary endings. (U 32)



Non-finite forms

If you conclude that a form is non-finite, there are two possibilities: The form is an
infinitive, oritisa participle (or it is a verbal adjective, to be introduced in unit 42). There are far
fewer infinitive forms than participle forms, so if you want to proceed by
elimination, start with the infinitives:

Infinitives:
e Active infinitives come in various flavors: -, -vai, -(o)ai
o  The inf. in -ew will contract with preceding vowels, so that you can find Tiu&v, dnAodv for a and

o contracts, respectively. A circumflex on the ending can indicate a present or future contract
(Trol€lv, UEeVELY) but also a thematic aorist: puyelv.

e Middle infinitives come in one form only: -cBai

e Accentuation: has to be learned by type. Infinitives and participles do not have
recessive accent like finite forms.

e The difference in accent between the present active infinitive of thematic verbs
and that of thematic aorist forms provides you with an extra clue for
identification: B&AAew - BaAeiv, pevyelv - puyeiv show a slight difference in

stem, but also a systematic difference in accent!

Participles are declined for number, case, and gender, and have persistent accentuation
like nouns. Forms:

Active participles
® in-wv, -oUcq, oOv;

® in-ag, -acq, -av;

® in -€I5, -€E10Q, -EV;

e in -oug, -ovoa, -ov; and
e in -ug, -uoQ, -Uv

are all declined like -vT stems in masculine and neuter; like 86 a in feminine (this
includes a fem.gen.pl. in -cov).

The perfect active participle in -cos, -OT0s; -via, -ulas; ds, -6Tos is declined like a dental stem in
masculine and neuter (i.e., no lengthening in dat.pl.); like Uyieia in feminine.

Middle participles in one form only: -pevos, -pévn, -uevov. They are declined like
three-ending adjectives such as dyaﬁég, -1, -oV. (Adjective, and therefore gen.pl. in all genders =

-cov). Perfect middle participles are only different in accentuation: -pévos, -puévn, -Huévov.



VERB STEMS

Greek verbs predominantly show the following types of stems [And this is helpful to know
because verbs of similar types behave similarly under stress:-) That is, their principal parts tend to look
the same. Know AUco, and you'll know most 'vowel' stems. Alternatively, you may disregard the regularity

and memorize the principal parts for every single Greek verb in existence. You choose!]

e Stems in vowels: AU-co, KEAEU-wO
e Stems in labial plosives: TéuT-c, TPIR-, yp&e-w
e Strengthened labial plosives take the form -Trteo:
o KAéTTw with stem KAeT-
o PBA&mTw with stem BAa-
e Stems in velar plosives: Slcok-c, &y-cd, APX-w
e Strengthened velar plosives take the form -TTw (or -cow ):
o QUAGTT with stem puUAak-
o0 TA&TTw with stem Tay-
e Stems in dental plosives: yeUd-co, Teib-cw
e Strengthened dental plosives take the form -&Cco or iCco:
o vouiCw with stem vouid-
e Stems in liquids: €0€éA-co, pév-c, Vép-co, Bép-co
e Strengthened liquid stems can show doubling of 1, addition of i to the stem vowel,

or lengthening of the stem vowel:
o ayyéAw, B&AAw with stems ayyeA-, BaA-

o @aivw, ebeipw with stems pav-, pbep-
o Kpivw with stem Kptv.

Besides these types of 'strengthening', there is a number of other present suffixes
(additions at the end of the stem) and infixes (additions within the stem):
e Stems plus -vu Seikvupi (aor €-de1fa)

e Stems plus -(1)ok &Tro-Bvijokw eup-iokw @or &m-é-8av-o-v, NUp-o-v)
o (-ok- and pres. reduplication: y1yvcdoke) (aor €-yvw-v)
e Stems plus -n-; -ne-; -an; -n/m- +an:
o0 TEUvVw (aor é-TEU-O-V)
0 a@-Kvéopal, UTTIoXVEOUAlL (@or AP-1K-O-UNV UTT-E-OX-O-UNV)
o auapTAavw (aor iUapPTOV)
o AapBadave, pavBavew, uvbavouat (@or é-AaB-o-v, é-uab-o-v, é-mub-o-
unv)
e Finally, a small group of verbs show present reduplication. The first consonant of the
stem plus iota are affixed to the beginning of the stem (aspirated consonants lose their

aspiration; s becomes h):
o di-Bcopt, T-nut, Ti-Bny, -oTNUL, Y1-yvedoKw, Yi-yvoual, ava-pi-UvHoKe



